P1200 Sample Hand-in Homework AHV\O’)’W)'Q(J Ke_ "] Due Date: N/A
/

*See the HIHW grading rubric posted on Carmen under modules/course documents™

Name: r‘ll ur _ pome \M,re 1 Recitation Instructor: BOb :rOV\e—S

R tation: 0 2
While warming up before the match, Serena Williams is gently eprfesen anion
. . Physics Concept(s): 0 2
bouncing a tennis ball up and down on her racket. She then - -
o . L . Initial Equation(s): 0 0.5 1
gives it a powerful upward hit from an initial height of 0.80 m :
. . . .. .. Symbolic Answer: 0 1
and sends it traveling perfectly vertically. After rising to its Units Chock. 005 1
maximum height, the ball falls back down to the court. Given Nm 5 Lheek: 5 1
that the ball was in the air for a total of 1.9s, determine its eatness: 2 -1 0
. o Total:
velocity upon hitting the court.
Correct Answer: Y N
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Physics Concept(s) | (Refer to the list of concepts on Carmen under modules/course docu
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| Numerical Answer | (Obtain this by plugging numbers into your symbolic answer.)
(At -t (19)- ()= 195 - (—099)) ( 9.8)(1.9)
(- @ 0000 = TD 2 L
(_lv-) '])} V- = 3 lonkuown. \'U_;= - 9-7 - of Pu-ﬂ!WH“-

Algebra Work | (Symbols only. Don’t plug in any numbers yet.)
B0 (by) = () (/yc) r 1o (AJc)
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